

WALTER SEAMAN

**The third Betti number of a positively pinched
riemannian six manifold**

Annales de l'institut Fourier, tome 36, n° 2 (1986), p. 83-92

http://www.numdam.org/item?id=AIF_1986__36_2_83_0

© Annales de l'institut Fourier, 1986, tous droits réservés.

L'accès aux archives de la revue « Annales de l'institut Fourier » (<http://annalif.ujf-grenoble.fr/>) implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/conditions>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

Article numérisé dans le cadre du programme
Numérisation de documents anciens mathématiques

<http://www.numdam.org/>

THE THIRD BETTI NUMBER OF A POSITIVELY PINCHED RIEMANNIAN SIX MANIFOLD

by Walter SEAMAN

Introduction.

The Sphere theorem, together with the classification of symmetric spaces, provides a complete classification for compact simply connected Riemannian manifolds whose sectional curvature, K , satisfies $1 \geq K \geq \frac{1}{4}$. Namely, each such space is topologically a sphere, or a projective space over the complex, quaternionic or Cayley numbers. These spaces are sometimes called the « model » spaces. Recently, Berger [3] has shown that there is a number, $\varepsilon(n) \in \left(0, \frac{1}{4}\right)$ such that any $2n$ -dimensional compact simply connected manifold with $1 \geq K \geq \varepsilon(n)$ is still topologically a model space. Unfortunately, $\varepsilon(n)$ is « purement idéal », and one would like to have some quantitative information about it. We hasten to add that there are known examples of compact simply connected positively curved manifold topologically distinct from the model spaces, and in fact the even dimensional homogeneous ones have been classified. These include, besides the model spaces, examples in dimensions 6, 7, 12, 13 and 24 c.f. [9]. There are also known examples, in dimension 7, of infinitely many simply connected, homotopically distinct, positively curved compact manifolds [1].

One indirect way to get a feeling for Berger's $\varepsilon(n)$ would be to exhibit actual numbers δ , with the property that any « δ -pinched » compact manifold (i.e. $1 \geq K \geq \delta$) is at least cohomologically similar to a model space. The procedure here is to use the Weitzenböch – Bochner method,

Key-words : Harmonic forms - Bochner technique - Positive curvature.

which states that the positive definiteness of an operator \mathcal{R}_k on k -forms guarantees that there are no nonzero harmonic k -forms, together with the Hodge-DeRham theorem, which then implies that the k^{th} real Betti number must be zero. This method has an extensive history [5,2,6], and we use it to prove our :

THEOREM. — *If a compact six manifold has sectional curvature K , satisfying $1 \geq K > \frac{4\sqrt{10} - 4}{4\sqrt{10} + 23} \cong .2426$, then $b_3(M; \mathbb{R}) = 0$.*

The proof amounts to showing that the cited restriction on K guarantees that \mathcal{R}_3 is positive definite. Our result is motivated by the fact that all the model spaces have zero odd dimensional cohomology, so it is natural to try to show that this property is preserved when the curvature goes slightly below $\frac{1}{4}$. Furthermore, the only known (at least to us) positively curved compact six manifolds, S^6 , CP^3 , and Wallach's $SU(3)/T^2$, all have $b_3 = 0$.

We would like to thank the referee for suggestions simplifying the form of \mathcal{R}_3 , and Professor Richard Randell for many helpful topological discussions. Finally, we add that we believe that our current lower bound for K can be improved to $\frac{8}{35}$.

1. Preliminaries.

Let M be an n -dimensional Riemannian manifold, and ω a k -form on M . Define a k -tensor field on M , as follows, at each $p \in M$:

$$(1) \quad \mathcal{R}_k \omega_p(v_1, \dots, v_k) = \sum_{i=1}^n \sum_{j=1}^k (R(e_i, v_j) \omega)_p(v_1, \dots, v_{j-1}, e_i, v_{j+1}, \dots, v_k)$$

where $v_j \in T_p M$, $\{e_i\}$ are an orthonormal basis for $T_p M$, and R is the Riemannian curvature tensor, extended to act on k forms as usual. Then we have the Weitzenböck formula ([8], chapter 4) :

$$(2) \quad \langle \Delta \omega, \omega \rangle = \frac{1}{2} \Delta |\omega|^2 + |\nabla \omega|^2 + \langle \mathcal{R}_k \omega, \omega \rangle.$$

By the well-known Bochner argument, if M is compact, boundariless and orientable, and $\Delta\omega = 0$, while \mathcal{R}_k is positive definite everywhere (actually just positive semidefinite everywhere and positive definite at one point suffices), then (2) implies that ω must be zero. The Hodge-DeRham theorem then implies that $b_k(M; \mathbf{R}) = 0$. Since finite coverings of compact manifolds only decreases $b_k(M; \mathbf{R})$, this result is also true for M nonorientable. Therefore, to prove our result about $b_3(M; \mathbf{R})$, we examine \mathcal{R}_3 . Throughout the remainder of this paper we will be working at a fixed $p \in M$. Let $\omega \in \Lambda^k(T_p M^*)$ and let $X \in \Lambda^k(T_p M)$ be the metric dual to $\omega: X^b = \omega$. The right hand side of (1) can be written as :

$$(3) \quad - \sum_{i=1}^n \sum_{j=1}^k \langle R(e_i, v_j)(v_1 \wedge \dots \wedge v_k), X \rangle,$$

since the extension of R acts as a derivation. Now examine (3) in the case $k = 3$. A straight forward, tedious argument using the Bianchi identity, shows that (3) equals

$$(4) \quad \langle \mathcal{R}_3(v_1 \wedge v_2 \wedge v_3), X \rangle$$

where

$$\mathcal{R}_3 = \widehat{\text{Ric}} - 2\widehat{R},$$

with

$$\begin{aligned} \widehat{\text{Ric}}(a \wedge b \wedge c) &= \widehat{\text{Ric}}(a) \wedge b \wedge c + a \wedge \text{Ric}(b) \wedge c + a \wedge b \wedge \text{Ric}(c) \\ \widehat{R}(a \wedge b \wedge c) &= a \wedge \widehat{R}(b \wedge c) + \widehat{R}(a \wedge b) \wedge c + b \wedge \widehat{R}(c \wedge a) \end{aligned}$$

$a, b, c \in T_p M$, $\widehat{\text{Ric}} = \text{Ricci tensor}$ and $\widehat{R} = \text{the curvature operator}$. In particular, \mathcal{R}_3 is symmetric, since both $\widehat{\text{Ric}}$ and \widehat{R} are. We should add that this formula for \mathcal{R}_3 is most easy to derive by first considering $X = X_1 \wedge X_2 \wedge X_3$ and then using linearity.

From the previous discussions we know that, for a compact manifold, if \mathcal{R}_3 is positive definite, then (since $p \in M$ was arbitrary) $b_3(M; \mathbf{R}) = 0$. Let $X \in \Lambda^3 T_p M$ be an eigenvector for \mathcal{R}_3 with minimum (real) eigenvalue $r: \mathcal{R}_3 X = rX$. Let M now be six dimensional. To proceed we need to have a nice form for X . This is provided in the following.

THEOREM [4,7]. — *Let $X \in \Lambda^3 \mathbf{R}^6$. Then there is an orthonormal basis e_1, \dots, e_6 of \mathbf{R}^6 such that*

$$X = \lambda_1 e_{123} + \lambda_2 e_{145} + \lambda_3 e_{246} + \lambda_4 e_{356} + \lambda_5 e_{456}$$

where

$$e_{ijk} = e_i \wedge e_j \wedge e_k.$$

This theorem is proved by maximizing the function $\langle X, \frac{a \wedge b \wedge c}{|a \wedge b \wedge c|} \rangle$, and λ_1 is the maximum, attained at e_{123} . This procedure is then iterated. By changing the signs of various e_i , we can assume:

$$(5) \quad |\lambda_1| \geq \lambda_2 \geq \lambda_3 \geq \lambda_4 \geq 0 \quad \text{and} \quad |\lambda_1| \geq \lambda_5 \geq 0.$$

There are examples where λ_1 is positive and examples where λ_1 is negative. In our proof that \mathcal{R}_3 is positive definite, we will need various inequalities among the λ_i 's. These inequalities are all derived from:

$$(6) \quad |\lambda_1| \geq \langle X, \frac{(a_1 e_1 + a_6 e_6) \wedge (a_2 e_2 - a_5 e_5) \wedge (a_3 e_3 + a_4 e_4)}{\sqrt{(a_1^2 + a_6^2)(a_2^2 + a_5^2)(a_3^2 + a_4^2)}} \rangle$$

which is valid since $|\lambda_1|$ is maximal. Taking $a_i = 1$, $i = 1, \dots, 6$ in (6), we obtain:

$$(7) \quad 2\sqrt{2}|\lambda_1| \geq \lambda_1 + \lambda_2 + \lambda_3 + \lambda_4 + \lambda_5.$$

If $\lambda_1 > 0$, (7) yields

$$(8) \quad (2\sqrt{2}-1)\lambda_1 \geq \lambda_2 + \lambda_3 + \lambda_4 + \lambda_5.$$

Taking $a_1 = a_2 = a_5 = a_6 = 1$, $a_3 = \lambda_1 + \lambda_4$, $a_4 = \lambda_2 + \lambda_3 + \lambda_5$, (6) yields:

$$(9) \quad 2|\lambda_1| \geq \sqrt{(\lambda_1 + \lambda_4)^2 + (\lambda_2 + \lambda_3 + \lambda_5)^2}.$$

This last together with (5), the following:

$$(10) \quad 2|\lambda_1| \geq \lambda_2 + \lambda_3 + \lambda_5 \geq \lambda_2 + \lambda_4 + \lambda_5 \geq \lambda_3 + \lambda_4 + \lambda_5.$$

Adding these last three inequalities we obtain:

$$(11) \quad 3|\lambda_1| \geq \lambda_2 + \lambda_3 + \lambda_4 + \frac{3}{2}\lambda_5.$$

2. Theorem and Conclusion.

In this section we prove our:

THEOREM. — *Let M be a compact six manifold with section curvature K , satisfying $1 \geq K > \frac{4\sqrt{10}-4}{4\sqrt{10}+23} \cong .2426$. Then $b_3(M; \mathbf{R}) = 0$.*

Proof. — From § 1, we need only show that \mathcal{R}_3 is positive definite. We assume that $1 \geq K \geq \delta$, where $1 > \delta$. As in § 1, let $\mathcal{R}_3 X = rX$, where r is the minimum eigenvalue for \mathcal{R}_3 . We shall show: $r > 0$ if

$\delta > \frac{4\sqrt{10} - 4}{4\sqrt{10} + 23}$. We may assume that X has the form indicated in the

theorem of § 1. Now use (4) to examine the components of $\mathcal{R}_3 X$, i.e., write out $\langle \mathcal{R}_3 X, e_{123} \rangle$, $\langle \mathcal{R}_3 X, e_{145} \rangle$, etc. The results are:

$$(12) \quad \lambda_1 r = \lambda_1 K_{123} - 2\lambda_2 R_{4532} - 2\lambda_3 R_{4613} - 2\lambda_4 R_{5621}.$$

(This follows from $\lambda_1 r = \langle rX, e_{123} \rangle = \langle \mathcal{R}_3 X, e_{123} \rangle$.)

$$(13) \quad \lambda_2 r = \lambda_2 K_{145} - 2\lambda_1 R_{4532} - 2\lambda_3 R_{6215} - 2\lambda_4 R_{6341} \\ + \lambda_5 \{R_{2162} + R_{3163} - R_{5615} - R_{4614}\}$$

$$(14) \quad \lambda_3 r = \lambda_3 K_{246} - 2\lambda_1 R_{3164} - 2\lambda_2 R_{5126} - 2\lambda_4 R_{3542} \\ + \lambda_5 \{R_{6526} + R_{4524} - R_{3523} - R_{1521}\}$$

$$(15) \quad \lambda_4 r = \lambda_4 K_{356} - 2\lambda_1 R_{1265} - 2\lambda_2 R_{1436} - 2\lambda_3 R_{2453} \\ + \lambda_5 \{R_{1341} + R_{2342} - R_{5435} - R_{6436}\}$$

$$(16) \quad \lambda_5 r = \lambda_5 K_{123} + \lambda_2 \{R_{2162} + R_{3163} - R_{5165} - R_{4164}\} \\ + \lambda_3 \{R_{6256} + R_{4254} - R_{3253} - R_{1251}\} \\ + \lambda_4 \{R_{1341} + R_{2342} - R_{5345} - R_{6346}\}.$$

Here $R_{ijk} = \langle R(e_i, e_j)e_k, e_l \rangle$ and

$$K_{i_1 i_2 i_3} = \sum_{j \neq i_1, i_2, i_3} (K_{j i_2} + K_{j i_2} + K_{j i_3})$$

where $\{e_{i_1}, e_{i_2}, e_{i_3}, e_{j_j}\} \subset \{e_1, \dots, e_6\}$, and K_{ij} is the sectional curvature of the plane $\{e_i, e_j\}$.

The proof of our theorem involves interpolating (12)-(16) along with (5), (8)-(11). We shall be freely using that $|R_{ijk}| \leq \frac{2}{3}(1-\delta)$ and $|R_{ijl}| \leq \frac{1}{2}(1-\delta)$, cf. [5]. We may assume that $\lambda_1 = +1$ or -1 .

Case 1. $\lambda_1 = +1$. In this case (12) yields:

$$r \geq 9\delta - \frac{4}{3}(1-\delta)(\lambda_2 + \lambda_3 + \lambda_4).$$

From (8), we get $r \geq 9\delta - \frac{4}{3}(1-\delta)(2\sqrt{2}-1)$. The right hand side here is

positive as soon as $\delta > \frac{8\sqrt{2}-4}{8\sqrt{2+23}} \cong .213$, so our theorem is proved in this case.

We may now assume that $\lambda_1 = -1$, so (12) becomes :

$$(17) \quad r = K_{123} + 2\lambda_2 R_{4532} + 2\lambda_3 R_{4613} + 2\lambda_4 R_{5621}.$$

Case 2. $\lambda_2 + \lambda_3 + \lambda_4 \leq 2$. In this case, (17) yields $r \geq 9\delta - \frac{8}{3}(1-\delta)$. The right hand side here is positive as soon as $\delta > \frac{8}{35} \cong .229$, so our theorem is proved in this case. Note in particular that if $\lambda_5 \geq \lambda_4$, then (10) yields $2 \geq \lambda_2 + \lambda_3 + \lambda_4$. Thus we may now assume both that $\lambda_2 + \lambda_3 + \lambda_4 > 2$ and that $\lambda_4 > \lambda_5$. In general, $3 \geq \lambda_2 + \lambda_3 + \lambda_4 > 2$, so we need more inequalities to work with. This is achieved by adding (17), to (13) through (15). The result is :

$$(18) \quad (1 + \lambda_2 + \lambda_3 + \lambda_4)r = K_{123} + \lambda_2 K_{145} + \lambda_3 K_{246} + \lambda_4 K_{356} \\ a) + 2[(1 + \lambda_2)R_{4532} - R_{3542}(\lambda_3 + \lambda_4)] \\ b) + 2[(1 + \lambda_3)R_{4613} - R_{4163}(\lambda_2 + \lambda_4)] \\ c) + 2[(1 + \lambda_4)R_{5621} - R_{2651}(\lambda_2 + \lambda_3)] + \lambda_5[S_1 + S_2 + S_3]$$

where $S_1 = R_{2162} + R_{3163} - R_{5615} - R_{4614}$ and so on. Note that $S_i \geq -2(1-\delta)$, $i = 1, 2, 3$. We now estimate from below 18a), b) and c).

$$(19) \quad 18a) \geq \frac{4}{3}(1-\delta)(1 + \lambda_2).$$

This is clearly true if $R_{3542} \leq 0$. If $R_{3542} > 0$, then since $1 + \lambda_2 \geq \lambda_3 + \lambda_4$, $-R_{3542}(\lambda_3 + \lambda_4) \geq -R_{3542}(1 + \lambda_2)$. Using this lower bound and the Bianchi identity we get: $18a) \geq 2(1 + \lambda_2)R_{4352}$ which again yields (19).

$$(20) \quad 18b) \geq -\frac{4}{3}(1-\delta)(1 + \lambda_3).$$

This is proved just like (19), since $1 + \lambda_3 \geq \lambda_2 + \lambda_4$.

$$(21) \quad \text{Case A : If } 1 + \lambda_4 \geq \lambda_2 + \lambda_3 \text{ then } 18c) \geq -\frac{4}{3}(1-\delta)(1 + \lambda_4).$$

$$\text{Case B : If } 1 + \lambda_4 \leq \lambda_2 + \lambda_3 \text{ then } 18c) \geq -\frac{4}{3}(1-\delta)(\lambda_2 + \lambda_3).$$

Again these are proved as in (19), using the Bianchi identity. Note that either of the two cases could occur. We now use (19)-(21) in (18). Let $\lambda = \lambda_2 + \lambda_3 + \lambda_4$, and, since $K_{ijk} \geq 9\delta$, (18) yields

$$(22) \quad \text{Case A : } (1 + \lambda_4 \geq \lambda_2 + \lambda_3) \\ (1 + \lambda)r \geq (1 + \lambda)9\delta - \frac{4}{3}(1 - \delta)(3 + \lambda) + \lambda_5(S_1 + S_2 + S_3)$$

$$\text{Case B : } (1 + \lambda_4 \leq \lambda_2 + \lambda_3) \\ (1 + \lambda)r \geq (1 + \lambda)9\delta - \frac{8}{3}(1 - \delta)(1 + \lambda_2 + \lambda_3) + \lambda_5(S_1 + S_2 + S_3).$$

Case 3. One $S_i \geq 0$. In this case $S_1 + S_2 + S_3 \geq -4(1 - \delta)$. From (11), $\frac{2}{3}(3 - \lambda) \geq \lambda_5$. Using these facts, (22) Case A yields :

$$(1 + \lambda)r \geq (1 + \lambda)9\delta - \frac{4}{3}(1 - \delta)(3 + \lambda) - \frac{8}{3}(1 - \delta)(3 - \lambda), \text{ i.e.} \\ (23) \quad (1 + \lambda)r \geq 21\delta - 12 + \lambda\left(9\delta + \frac{4}{3}(1 - \delta)\right).$$

Now (17) yields $r \geq 9\delta - \frac{4}{3}(1 - \delta)\lambda$. Multiply this last inequality by $(1 + \lambda)$ and we obtain

$$(24) \quad (1 + \lambda)r \geq (1 + \lambda)\left(9\delta - \frac{4}{3}(1 - \delta)\lambda\right).$$

Now set the right hand side of (24) equal to that of (23) and solve for λ . This yields $\lambda = \sqrt{10} - 1$ ($3 \geq \lambda > 2$). Now at $\lambda = \sqrt{10} - 1$, inequalities (23) and (24) agree. If $\lambda \geq \sqrt{10} - 1$ then (23) yields

$$(1 + \lambda)r \geq 21\delta - 12 + (\sqrt{10} - 1)\left(9\delta + \frac{4}{3}(1 - \delta)\right),$$

while if $\lambda \leq \sqrt{10} - 1$, (24) yields $r \geq 9\delta - \frac{4}{3}(1 - \delta)(\sqrt{10} - 1)$, so the lower bound on r with $\lambda = \sqrt{10} - 1$ is always valid. With this value of λ , the right hand side of (24) is positive as soon as $\delta > \frac{4\sqrt{10} - 4}{4\sqrt{10} + 23}$, so our theorem is proved in this case.

In case B, using (10),

$$2 \geq \lambda_2 + \lambda_3 + \lambda_5 \Rightarrow 3 \geq 1 + \lambda_2 + \lambda_3 + \lambda_5 \\ \Rightarrow -(1 + \lambda_2 + \lambda_3) \geq -(3 - \lambda_5),$$

(22) case B yields, since $S_1 + S_2 + S_3 \geq -4(1 - \delta)$,

$$(25) \quad (1 + \lambda)r \geq (1 + \lambda)9\delta - 8(1 - \delta) - \frac{4}{3}(1 - \delta)\lambda_5.$$

Again from (10) and case B, $2 \geq \lambda_2 + \lambda_3 + \lambda_5 \geq 1 + \lambda_4 + \lambda_5$, so adding, we obtain $4 \geq 1 + \lambda + 2\lambda_5 \Rightarrow -\lambda_5 \geq -\frac{1}{2}(3 - \lambda)$. Using this in (25), we obtain after some simplification,

$$(26) \quad (1 + \lambda)r \geq 19\delta - 10 + \lambda\left(9\delta + \frac{2}{3}(1 - \delta)\right).$$

Now repeat the argument of case A, setting the right hand side of (26) equal to that of (24), and solving for λ . This yields $\lambda = \frac{\sqrt{129} - 3}{4}$, and the right hand side of (24) is positive as soon as $\delta > \frac{\sqrt{129} - 3}{\sqrt{129} + 24} \cong .236$, so our theorem is proved in this case.

Case 4 (The last case). All $S_i < 0$.

To handle this case, consider the sum :

$$(17) + (13) + (14) + (15) - (16).$$

This is :

$$(27) \quad (1 + \lambda - \lambda_5)r = (1 - \lambda_5)K_{123} + \lambda_2 K_{145} + \lambda_3 K_{246} + \lambda_4 K_{356} \\ + 18a + 18b + 18c + (\lambda_5 - \lambda_2)S_1 + (\lambda_5 - \lambda_3)S_2 + (\lambda_5 - \lambda_4)S_3.$$

From case 2 and (5), $\lambda_5 - \lambda_i < 0$ for $i = 2, 3, 4$. Thus, if each $S_i < 0$, we can eliminate the last three terms of (27) to obtain

$$(28) \quad \text{Case A : } (1 + \lambda - \lambda_5)r \geq (1 + \lambda - \lambda_5)9\delta - \frac{4}{3}(1 - \delta)(3 + \lambda) \\ = (1 - \lambda_5)9\delta - 4(1 - \delta) + \lambda\left(9\delta - \frac{4}{3}(1 - \delta)\right).$$

$$\text{Case B : } (1 + \lambda - \lambda_5)r \geq (1 + \lambda - \lambda_5)9\delta - \frac{8}{3}(1 - \delta)(1 + \lambda_2 + \lambda_3).$$

Consider case B first. From (10),

$$2 \geq \lambda_2 + \lambda_3 + \lambda_5 \Rightarrow 3 - \lambda_5 \geq 1 + \lambda_2 + \lambda_3,$$

while from case 2, $1 + \lambda > 3$, so case B yields :

$$(29) \quad (1 + \lambda - \lambda_5)r \geq (3 - \lambda_5)\left(9\delta - \frac{8}{3}(1 - \delta)\right).$$

The right hand side of (29) is positive as soon as $\delta > \frac{8}{35}$, so our theorem is proved in this case. To handle case A, assume that $\delta > \frac{4}{31}$, so the coefficient of λ is positive. We also have from (17),

$$(30) \quad (1 + \lambda - \lambda_5)r \geq (1 + \lambda - \lambda_5)\left(9\delta - \frac{4}{3}(1 - \delta)\lambda\right).$$

Set the right hand side of (30) equal to that of (28) case A. This yields

$$\lambda = \frac{\lambda_5 \pm \sqrt{\lambda_5^2 + 12}}{2}. \text{ Now repeat the argument of case 3. For}$$

$$\lambda = \frac{\lambda_5 - \sqrt{\lambda_5^2 + 12}}{2}, \quad (30) \text{ yields, since } 1 \geq \lambda_5,$$

$$r \geq 9\delta + \frac{2}{3}(1 - \delta)(\sqrt{12} - 1) \text{ and this last quantity is positive for}$$

$$\delta > -.22, \text{ so in this case } r > 0 \text{ for } \delta > \frac{4}{31} \cong .13 \text{ and we're done. If}$$

$$\lambda = \frac{\lambda_5 + \sqrt{\lambda_5^2 + 12}}{2}, \text{ use the estimate } \frac{2}{3} > \lambda_5 \text{ (which comes from (11)}$$

$$\text{and } \lambda > 2) \text{ in (30) to get } r \geq 9\delta - \frac{2}{3}(1 - \delta)\left(\frac{2 + \sqrt{112}}{3}\right). \text{ This last is}$$

$$\text{positive for } \delta > \frac{4 + 8\sqrt{7}}{85 + 8\sqrt{7}} \cong .237, \text{ so our theorem is proved in this last case.}$$

Q.E.D.

BIBLIOGRAPHY

- [1] S. ALOFF and N. R. WALLACH, An Infinite Family of Distinct 7-Manifolds Admitting Positively Curved Riemannian Metrics, *Bull. A.M.S.*, 81 (1975), 93-97.

- [2] M. BERGER, Sur quelques variétés riemanniennes suffisamment pincées, *Bull. Soc. Math. Fr.*, 88 (1960), 57-71.
- [3] M. BERGER, Sur les variétés riemanniennes pincées just au-dessous de $\frac{1}{4}$, *Ann. Inst. Fourier*, Grenoble, 33-2 (1983), 135-150.
- [4] J. DADOK and R. HARVEY, Calibrations on \mathbf{R}^6 , *Duke Math. J.*, 50 (1983), 1231-1243.
- [5] S. GOLDBERG, *Curvature and Homology*, Dover Publications, 1962, 1982.
- [6] D. HULIN, Le second nombre de Betti d'une variété riemannienne $\left(\frac{1}{4} - \varepsilon\right)$ -pincée de dimension 4, *Ann. Inst. Fourier*, Grenoble, 33-2 (1983), 167-182.
- [7] F. MORGAN, The Exterior Algebra $\Lambda^k \mathbf{R}^n$ and Area Minimization, *Linear Algebra and its Applications*, 66 (1985), 1-28.
- [8] W. POOR, *Differential Geometric Structures*, McGraw Hill Book Co., 1981.
- [9] N. R. WALLACH, Compact homogeneous Riemannian manifolds with strictly positive curvature, *Ann. Math.*, 96 (1972), 277-295.

Manuscrit reçu le 16 octobre 1984
révisé le 26 juin 1985.

Walter SEAMAN,
University of Iowa
Department of Mathematics
101 Maclean Hall
Iowa City, Iowa 52242 (USA).